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» nnHgg without event cleaning.
» nnHbb without event cleaning.

» nnHbb with event cleaning.
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» GEN_jet_costheta < 0.7
» jet_GENMatch_mindR < 0.6
» deltaR of jetl1jet2 > =2

Event cleaning selection:
& tot p ISR <1
& tot p nu<1



Selection:

» GEN_jet_costheta < 0.7
» jet_GENMatch_mindR < 0.6
» deltaR of jetljet2 > =2

Process:
€ nnHgg from Kaili.
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JER/JES performance study of nnHgg
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JER/JES performance study of nnHgg
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Jet Energy Resolution

Jet Energy Scale
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JER meets expectations
compared with CDR.

JES deviates greatly from
the expectation.



CEPCSW: TDR 24.12.0
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JER/JES performance study of nnHbb
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JER/JES performance study of nnHbb

ZZ-\Vag (240 Gov) JER

LI (LR A IR R 2 A LRI S 3 SR B b

- CEP 1w [ Tcos()_fruthl <07 : ;

0‘08: c z - Elo_og_. -lnput:.197800....... CEPC Ref-TDR

E uds quarks 1> I oOutput: 107271 ZH — vvgg
c 007__ b k 2 B .
S : quarks 1 ® JER of nnHbb is not
o A 4 ¢ quarks 3 i
g 0.06F i 1 smooth as expected.
EE-. 5 _7‘-@“ ®27% 1 (o6 ot
= i ] B
5 0.05} B r
c 1 g i
E { o0.05- i . i
S o.04f N ; =

- 1 .04

0.03|- excluding v's in GendJet ] 8 _ _ _ _ _ _
PRSI T LAY Y U T OO RN R0 T T U T TETA [ B SR Y SRR E : : : : :
_IIIIilll!i\l!lil\llillllill\Eilll\
20 30 40 50 60 70 80 90 0.03 35 55 56

70 80 90 100

Egen (GeV) Egen (GeV)
240 GeV
:||1|||{||] JES
004 CEPC & WW-—yuvag /» WW—qgad _| w0-04Teos(o) truthl < 0.7 ]
- ®ZZ -vwoq  ZZ —qad@ | @ | Input: 197800 ; CEPC Ref-TDR
® ZH —vvgg O ZH —qogq | 0'03? Outpul: 1{)'7271 ZH — jvvgg
& i N -
2 U.UE- 1 002
5] -
/5] -
5 o Uor eyl :
2 . "’Mﬁ gﬂ“!’““ of : i 3
w u
% o020 © 1 -oof :
-0.02f
_0‘04 __ __ _0_033_ A SR
seloosolosnsbivaalonnolosnoloowilosaelonesly - ! :
20 30 40 50 60 70 80 90 100 700‘%‘.”&.\\=l..;.l...si..i\L....h.;.

E,. (GeV) 50 60 70 80 5221 G N 1):)0



CEPCSW: TDR 24.12.0 T

Selection: Sl e
5| O TR S

» GEN_jet_costheta < 0.7 i 1000F ‘ o i

> jet_GENMatch_mindR < 0.6 } | | ?

» deltaR of jetljet2 > =2 800 2
Add event cleaning: 600:_ | .
¢ tot_p_ISR <1 400} | | “
€ tot p nu<1 : J’ ‘ ]
2001 | p

Process: N T PRI | L
0 50 100 150

€ nnHbb from xiaotian. Egen(GeV)



JER/JES performance study of nnHbb
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JER/JES performance study of nnHbb

Jet Energy Resolution
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JER/JES performance study of nnHgg

Correct:

v JER/JES change with p.
v The number of bins is small.

v Use binfit, which rely heavily on number of bins.
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